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interface GigabitEthernet0/0/1

no ip address

load-interval 30

negotiation auto
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interface GigabitEthernet0/0/1.1115
encapsulation dotlQ 1115 native

ip address 192.168.2.1 255.255.255.0
1
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R-ASR1006-2#show vlans dotlg 1115

Total statistics for 802.1Q VLAN 1115:

4021 packets, 241260 bytes input <-- counter is very low (and frozen) 10 packets, 420 bytes
output <-- counter is very low (and frozen) 0 oversubscription packet drops
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NR-ASR1002-2#sh int gigabitEthernet 0/0/1
GigabitEthernet0/0/1 is up, line protocol is up

<trunc>

2429325386 packets input, 1438158021764 bytes, 0 no buffer
2429263775 packets output, 1438124149520 bytes, 0 underruns
<trunc>
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interface GigabitEthernet0/0/1
no ip address
load-interval 30
negotiation auto
!
interface GigabitEthernet0/0/1.3503
encapsulation dotlQ 1115 native
ip address 57.211.249.6 255.255.255.252
I
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ISR4321-1#show vlans dotlg 3503

Total statistics for 802.1Q VLAN 3503:
141584463 packets, 101578951916 bytes input
142482559 packets, 45106997466 bytes output

ISR4321-1#show int gig 0/1
<trunc>
141584583 packets input, 2794771512 bytes, 0 no buffer



142609327 packets output, 2166121790 bytes, 0 underruns
<trunc>
ISR4321-1#
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R-ASR1006-2#show int giga 0/1

<trunc>

2429657821 packets input, 1438159132874 bytes, 0 no buffer
2429643228 packets output, 1438125250620 bytes, 0 underruns
<trunc>

R-ASR1006-2# R-ASR1006-2#show vlans dotlg 1115

Total statistics for 802.1Q VLAN 1115:

2429657834 packets, 1438159133962 bytes input

2429643241 packets, 1438125251511 bytes output
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